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READING M.AC--2

Australia and the Great War, 1914 — 1918

Australia’s role in the First World War, or the Great War as it was known until 1939, is central to the development of
modern Australia’s vision of itself in the world. In many ways it has served to create what is in some ways a second founding of
the nation in the Gallipoli campaign and on the battlefields of France and Belgium. The influence of the war experience in the
First, and Second, World War is evident in the way in which ANZAC day is, perhaps even more than Australia day, the country’s
national day.

When the war broke out in 1914, it was a certainty that, because of longstanding economic, family and defense ties,
Australia, along with New Zealand, would stand alongside Britain. The then Prime Minister Andrew Fisher was quick to pledge
the country’s support to “the last man, the last shilling”. This was no idle promise and Australia paid a high price for their loyalty to
their colonizers. From a pre-war population of 5m, 417,000 enlisted in the armed forces, of which 324,000 served abroad. By the
end of the war, Australia had lost 60,000 dead and 155,000 men had been wounded. The economic price was also high. The
national debt, which had stood at £6m in 1914, was £325m by the end of the war.

It is possible that the first shot of the war was fired in Australia, when a shot was fired across the bow of the German
merchant ship Pfalz as it tried to escape from Port Arthur only a few hour after the declaration of war. In late 1914 the light cruiser
HMAS Sydney sank the German warship Emden off the west coast of the country. Also early in the war, Australian troops
captured the German radio transmitters in Rabaul and Nauru and conquered all of German New Guinea.

At first the Australian forces were intended only to defend Australia, but in 1915 the Australia New Zealand Army Corps
(ANZAC) departed for Europe. Their first stop was Egypt and it was because they were so close that they were chosen to take
part in the campaign to capture the Gallipoli peninsula, the key to shipping into the Black Sea, from the Turks. The plan was for
British, French and Anzac forces to land on the peninsular at night at weak points in the Turkish defense. However, strong winds
blew the troops off course to better defended spots and in the advantage was lost. What followed was months of bitter fighting in
which 20,000 British and 7,000 ANZAC soldiers were killed and which ended in a successful withdrawal, but no gain for the
Allies. It was at this moment of history that Australia was propelled on to the world stage. From this moment onward Australia
began to think of itself as a country in its own right; as being separate to Britain and no longer a colony.

Most of the ANZAC force was sent to Europe, but the Australian Light Horse remained to fight Turkish forces in Palestine
and Syria. They defended the Suez Canal and advanced through Palestine and Syria. They also took part in what was one of the
world’s last great cavalry charges at Beersheba.

The main ANZAC force arrived in Europe in 1916. The ANZAC experience was similar to that of the other participants in
the war; a high death toll and little gain to be shown for it. Australian forces were present at all the major battles of the war and
sustained some terrible casualties. For example, in 24 hours near Pozieres the 5th Division suffered 5,000 casualties. At the
battle of Bullecort, of the 3,000 men who advanced, 2339 were killed, wounded or captured.

By 1917 most of the officers were not professional soldiers. The most prominent example was General Sir John Monash,
who was an engineer by training. He commanded the allied forces at the battle of Hamel so well that the general staff published
the battle reports as a model. In August 1918, he commanded 200,000 troops on what way called “Ludendorff’s black day”, a
turning point in the war. Monash was probably Australia’s greatest military figure.

Unlike in other armies in the war, the Australian soldiers were all volunteers. They were also more individualistic and
showed less respect for the rulebook than other soldiers. The relationship between ranks was more democratic and officer had to
win the respect of their troops. All in all, they paid a high price for fighting in the war. Of the 324,000 soldiers who served
overseas in the war 215,000 were killed or wounded. This was the highest proportion of any of the countries in the war and was
probably due to the Australians fighting qualities, which meant that they were often used on the frontline of the fighting.

At home, the war had a significant effect on the economy. Negative effects included the end of British investment, the closure of
many shipping lanes and the stockpiling of Australia’s main export, wool. However, the isolation that resulted from the war meant
that Australia had to make some things that had previously been imported. This led to the development of new industries. In
addition, the BHP smelting company, which is now a major Australian company, saw a great increase in demand for iron and
steel. The needs of the war were stimulus for the beginning of full industrialization in Australia.

At the signing of the treaty of Versailles, which marked the end of the war, Australia signed as a separate country. This
reflected the fact that, at the cost of 60,000 dead, Australia had finally emerged from the shadow of Britain. The Great War was,
perhaps, the beginning of modern Australian history.

Complete the sentences below (1 — 7) with words taken from the passage.Use NO MORE THAN THREE WORDS for each
answer. Write your numbers in boxes 1 — 7 on your answer sheet.

1. According to the passage Australia’s view of itself is directly related to its involvementin ..............................

2. Soon after the war had begun, Australia’s Prime Minister offered..............................

3. Australia had an early involvement in the war and it is even possible that they were responsible for..............................

4. When combating the Turkish defense, the British, French and Anzac forces ended up attacking stronger points than they had
originally intended because of..............................
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5. The outcome of the bitter fight with the Turks was significant for Australia because it enabled them to take their place on.........
6. John Monash commanded the battle of Hamel so well that reports of the battle were published in order to be used .................
7. The Great War marked the beginning of modern Australia. They had emerged as a separate country and would no longer have
to live under the..................

Classify the following statements as representing

Yes Opinions the writer would agree with

No Statements the writer would disagree with

Not Given Facts not reported in the passage

Write the appropriate letters in boxes 8 — 12 on your answer sheet.

8. Australia’s national debt increased greatly as a result of the Great War.

9. Australia made a great contribution to the successful outcome of the First World War.

10. The British forces suffered a greater number of casualties than the Anzac forces during the months of fighting with the Turkish.
11. Overall, the British had a higher proportion of soldiers killed or injured than Australia.

12. Australian soldiers were disrespectful to their superiors.

Urban planning in Singapore
British merchants established a trading post in Singapore in the early nineteenth century, and for more than a century trading
interests dominated. However, in 1965 the newly independent island state was cut off from its hinterland, and so it set about
pursuing a survival strategy. The good international communications it already enjoyed provided a useful base, but it was decided
that if Singapore was to secure its economic future, it must develop its industry. To this end, new institutional structures were
needed to facilitate, develop, and control foreign investment. One of the most important of these was the Economic Development
Board (EDB), an arm of government that developed strategies for attracting investment. Thus from the outset, the Singaporean
government was involved in city promotion.
Towards the end of the twentieth century, the government realised that, due to limits on both the size of the country’s workforce
and its land area, its labour-intensive industries were becoming increasingly uncompetitive. So an economic committee was
established which concluded that Singapore should focus on developing as a service centre, and seek to attract company
headquarters to serve South East Asia, and develop tourism, banking, and offshore activities. The land required for this service-
sector orientation had been acquired in the early 1970s, when the government realised that it lacked the banking infrastructure
for a modern economy. So a new banking and corporate district, known as the ‘Golden Shoe’, was planned, incorporating the
historic commercial area. This district now houses all the major companies and various government financial agencies.
Singapore’s current economic strategy is closely linked to land use and development planning. Although it is already a major city,
the current development plan seeks to ensure Singapore’s continued economic growth through restructuring, to ensure that the
facilities needed by future business are planned now. These include transport and telecommunication infrastructure, land, and
environmental quality. A major concern is to avoid congestion in the central area, and so the latest plan deviates from previous
plans by having a strong decentralisation policy. The plan makes provision for four major regional centres, each serving 800,000
people, but this does not mean that the existing central business district will not also grow. A major extension planned around
Marina Bay draws on examples of other ‘world cities’, especially those with waterside central areas such as Sydney and San
Francisco. The project involves major land reclamation of 667 hectares in total. Part of this has already been developed as a
conference and exhibition zone, and the rest will be used for other facilities. However the need for vitality has been recognised
and a mixed zoning approach has been adopted, to include housing and entertainment.
One of the new features of the current plan is a broader conception of what contributes to economic success. It encompasses
high quality residential provision, a good environment, leisure facilities and exciting city life. Thus there is more provision for low-
density housing, often in waterfront communities linked to beaches and recreational facilities. However, the lower housing
densities will put considerable pressure on the very limited land available for development, and this creates problems for another
of the plan’s aims, which is to stress environmental quality. More and more of the remaining open area will be developed, and the
only natural landscape surviving will be a small zone in the centre of the island which serves as a water catchment area.
Environmental policy is therefore very much concerned with making the built environment more green by introducing more plants
— what is referred to as the ‘beautification’ of Singapore. The plan focuses on green zones defining the boundaries of settlements,
and running along transport corridors. The incidental green provision within housing areas is also given considerable attention.
Much of the environmental provision, for example golf courses, recreation areas, and beaches, is linked to the prime objective of
attracting business. The plan places much emphasis on good leisure provision and the need to exploit Singapore’s island setting.
One way of doing this is through further land reclamation, to create a whole new island devoted to leisure and luxury housing
which will stretch from the central area to the airport. A current concern also appears to be how to use the planning system to
create opportunities for greater spontaneity: planners have recently given much attention to the concept of the 24-hour city and
the cafe society. For example, a promotion has taken place along the Singapore river to create a cafe zone. This has included
the realisation, rather late in the day, of the value of retaining older buildings, and the creation of a continuous riverside
promenade. Since the relaxation in 1996 of strict guidelines on outdoor eating areas, this has become an extremely popular area
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in the evenings. Also, in 1998 the Urban Redevelopment Authority created a new entertainment area in the centre of the city
which they are promoting as ‘the city’s one-stop, dynamic entertainment scene’.
In conclusion, the economic development of Singapore has been very consciously centrally planned, and the latest strategy is
very clearly oriented to establishing Singapore as a leading ‘world city’. It is well placed to succeed, for a variety of reasons. It can
draw upon its historic roots as a world trading centre; it has invested heavily in telecommunications and air transport
infrastructure; it is well located in relation to other Asian economies; it has developed a safe and clean environment; and it has
utilised the international language of English.

Question 13-18
Complete the summary below using words from the box.

Singapore
When Singapore became an independent, self-sufficient state it decided to build upits 13 .................... , and government
organisations were created to support this policy. However, this initial plan met with limited success due to a shortage of 14
.................... and land. It was therefore decided to develop the 15 .................... sector of the economy instead.
Singapore is now a leading city, but planners are working to ensure that its economy continues to grow. In contrast to previous
policies, there is emphasis on 16 .................... . In addition, land will be recovered to extend the financial
district, and provide 17 .................... as well as housing. The government also plans to improve the quality of Singapore’s
environment, but due to the shortage of natural landscapes it will concentrate instead on what it calls 18 ................... .

labour entertainment service beautification Industry decentralisation

Question 19-25

True if the statement agrees with the information

False if the statement contradicts the information

Not Given if there is no information on this.
19. After 1965, the Singaporean government switched the focus of the island’s economy.
20. The creation of Singapore’s financial centre was delayed while a suitable site was found.
21. Singapore’s four regional centres will eventually be the same size as its central business district.
22. Planners have modelled new urban developments on other coastal cities.
23. Plants and trees are amongst the current priorities for Singapore’s city planners.
24. The government has enacted new laws to protect Singapore’s old buildings.
25. Singapore will find it difficult to compete with leading cities in other parts of the world.

RISING SEA

Paragraph 1 - INCREASED TEMPERATURES

The average air temperature at the surface of the earth has risen this century, as has the temperature of ocean surface waters.
Because water expands as it heats, a warmer ocean means higher sea levels. We cannot say definitely that the temperature
rises are due to the greenhouse effect; the heating may be part of a ‘natural’ variability over a long time - scale that we have not
yet recognized in our short 100 years of recording. However, assuming the build up of greenhouse gases is responsible, and that
the warming will continue, scientists — and inhabitants of low-lying coastal areas — would like to know the extent of future sea
level rises.

Paragraph 2

Calculating this is not easy. Models used for the purpose have treated the ocean as passive, stationary and one -dimensional.
Scientists have assumed that heat simply diffused into the sea from the atmosphere. Using basic physical laws, they then predict
how much a known volume of water would expand for a given increase in temperature. But the oceans are not one -dime nsional,
and recent work by oceanographers, using a new model which takes into account a number of subtle facets of the sea —including
vast and complex ocean currents —suggests that the rise in sea level may be less than some earlier estimates had predicted.
Paragraph 3

An international forum on climate change, in 1986, produced figures for likely sea-level rises of 20 cms and 1.4 m, corresponding
to atmospheric temperature increases of 1.5 and 4.5C respectively. Some scientists estimate that the ocean warming resulting
from those temperature increases by the year 2050 would raise the sea level by between 10 cms and 40 cms. This model only
takes into account the temperature effect on the oceans; it does not consider changes in sea level brought about by the melting
of ice sheets and glaciers, and changes in groundwater storage. When we add on estimates of these, we arrive at figures for total
sea-level rises of 15 cm and 70 cm respectively.

Paragraph 4

It's not easy trying to model accurately the enormous complexities of the ever-changing oceans, with their great volume, massive
currents and sensitively to the influence of land masses and the atmosphere. For example, consider how heat enters the ocean.
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Does it just ‘diffuse’ from the warmer air vertically into the water, and heat only the surface layer of the sea? (Warm water is less
dense than cold, so it would not spread downwards). Conventional models of sea-level rise have considered that this the only
method, but measurements have shown that the rate of heat transfer into the ocean by vertical diffusion is far lower in practice
than the figures that many modelers have adopted.
Paragraph 5
Much of the early work, for simplicity, ignored the fact that water in the oceans moves in three dimensions. By movement, of
course, scientists don’t mean waves, which are too small individually to consider, but rather movement of vast volumes of water
in huge currents. To understand the importance of this, we now need to consider another process — advection. Imagine smoke
rising from a chimney. On a still day it will slowly spread out in all directions by means of diffusion. With a strong directional wind,
however, it will all shift downwind, this process is advection — the transport of properties (notably heat and salinity in the ocean)
by the movement of bodies of air or water, rather than by conduction or diffusion.
Paragraph 6.
Massive ocean currents called gyres do the moving. These currents have far more capacity to store heat than does the
atmosphere. Indeed, just the top 3 m of the ocean contains more heat than the whole of the atmosphere. The origin of gyres lies
in the fact that more heat from the Sun reaches the Equator than the Poles, and naturally heat tends to move from the former to
the latter. Warm air rises at the Equator, and draws more air beneath it in the form of winds (the “Trade Winds”) that, together
with other air movements, provide the main force driving the ocean currents.
Paragraph 7
Water itself is heated at the Equator and moves poleward, twisted by the Earth’s rotation and affected by the positions of the
continents. The resultant broadly circular movements between about 10 and 40 North and South are clockwise in the Southern
Hemisphere. They flow towards the east at mid latitudes in the equatorial region. They then flow towards the Poles, along the
eastern sides of continents, as warm currents. When two different masses of water meet, one will move beneath the other,
depending on their relative densities in the subduction process.The densities are determined by temperature and salinity. the
convergence of water of different densities from the Equator and the Poles deep in the oceans causes continuous subduction.
This means that water moves vertically as well as horizontally. Cold water from the Poles travels as depth — it is denser than
warm water —until it emerges at the surface in another part of the world in the form of a cold current.
Paragraph 8
HOW THE GREEN HOUSE EFFECT WILL CHANGE OCEAN TEMPERATURES
Ocean currents, in three dimensions, form a giant ‘conveyor belt’, distributing heat from the thin surface layer into the interior of
the oceans and around the globe. Water may take decades to circulate in these 3-D gyres in the lop kilometer of the ocean, and
centuries in the deep water. With the increased atmospheric temperatures due to the greenhouse effect, the oceans conveyor
belt will carry more heat into the interior. This subduction moves heat around far more effectively than simple diffusion. Because
warm water expands more than cold when it is heated, scientists had presumed that the sea level would rise unevenly around the
globe. It is now believed that these inequalities cannot persist, as winds will act to continuously spread out the water expansion.
Of course, of global warming changes the strength and distribution of the winds, then this ‘evening-out’ process may not occur,
and the sea level could rise more in some areas than others.

Questions 26 - 31

From the list below numbered A - |, choose a suitable heading for the remaining 6 paragraphs.Write your answers A - |, in the
spaces numbered 26-31 on the answer sheet. There are more headings than paragraphs, so you will not use all the
headings.

List of headings

A THE GYRE PRINCIPLE

B THE GREENHOUSE EFFECT
C HOW OCEAN WATERS MOVE
D STATISTICAL EVIDENCE
E
F
G
H
I

THE ADVECTION PRINCIPLE
DIFFUSION VERSUS ADVECTION
FIGURING THE SEA LEVEL CHANGES
ESTIMATED FIGURES
THE DIFFUSION MODEL
26. Paragraph
27. Paragraph
28. Paragraph
29. Paragraph
30. Paragraph
31. Paragraph
1ST FLOOR, NEAR HDFC BANK, LUDHIANA ROAD RAIKOT-141109 4

PH 01624-264930, 98157-93930 web:- www.greatwayz.in, email: rkt.greatwayz@gmail.com

~NoO o~ wWN




GREATWAYZ
INSTITUTE OF PROFESSIONAL EDU.
Questions 32 and 33
Answer questions 32 and 33 by selecting the correct answer to complete each sentence according to the information given in the
reading passage.
Write your answers A, B, C or D in the spaces numbered 32 and 33 on the answer sheet.
32. Scientists do not know for sure why the air and surface of ocean temperatures are rising because:
A There is too much variability
B There is not enough variability
C They have not been recording these temperatures for enough time
D The changes have only been noticed for 100 years
33. New research leads scientists to believe that:
A The oceans are less complex
B The oceans are more complex
C The oceans will rise more than expected
D The oceans will rise less than expected

Question 34
Look at the following list of factors A-F and select THREE which are mentioned in the reading passage which may contribute to
the rising ocean levels. Write the THREE corresponding letters A-F,

List of factors

Thermal expansion

Melting ice

Increased air temperature
Higher rainfall

Changes in the water table
Increased ocean movement

TMoO o>

Questions 35 - 39
T ifitistrue
F if itis false,
NA If there is no information about the statement in the reading passage.

Write your answers in the spaces numbered 35-39 on the answer sheet.
35. The surface layer of the oceans is warmed by the atmosphere.

36. Advection of water changes heat and salt levels.

37. A gyre holds less heat than there is in the atmosphere.

38. The process of subduction depends on the water density.

39. The sea level is expected to rise evenly over the Earth's surface
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